


sl. No. :

No. of Questions — 28 ‘ S—07—Science
No. of Printed Pages — 15 :

o " Roll No.

HIeATHe Ua, 2021

SECONDARY EXAMINATION, 2021

ICHIG

SCIENCE
T 31 U

quTih : 80

gtenteal & foro g fAde
GENERAL INSTRUCTIONS TO THE EXAMINEES :

1.

QRIETT T 319 Y9 U W A Hemd: fod |
Candidate must write first his / her Roll No. on the question
paper compulsorily.

[t T B A A E |
All the questions are compulsory.

Ucieh W9 ST 3T &l T8 STR-Ydent | & ford |

Write the answer to each question in the given answer-book

only. -

TS 7RA1 o STk @Ue €, 39 g3 o I Th 9 & ford |

For questions having more than one part, the answers to those
parts are to be written together in continuity.

ge O o fel & Sfistt W o frddt weR # e / R/ fagurra
T WX &=t weT & e i wd O o _

If there is any error / difference / contradiction in Hindi &

English versions of the question paper, the question of Hindi
version should be treated valid.

TRA I 20 W 28 H e faeed & |
There are internal choice in Q. No. 20 to 28.
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| Weightagé of marks for the question is as follows -

v T W e | 30 W a FA IF TR
wE-aa) | 1(i¥x),2t011 1 20
m-am  12t019=8 2 - ‘ 1.6.
W -We) | 20t023=4 s | e
=ve - 3 (D) 24t025=2 | 5 [ 10
m“"(E)- | 26 t028 =3 | ' 6A : | ‘ ‘18A

| ue - R ’
 Section - A

1. e et 4 et e e e 1 S R S e e 1

P © Write in the answer-book by selecting the correct option given in the following .

- questions : .
| 0 Frehe @ g w w0 @ e S e | |
| @ W ® =
© Rim (D) e | S 1
Disease caused by deﬁcit.enCY.Of Vltamm Bis 7 . - V
(A) Night bﬁndness (B). Beri-beri
(C) Rickets - (D) Scurvy.
) H R A @ SR BT SR e S § 2
@A) T . B) "EA | |
© wfw - D) TR 1
Which scientist is called the ‘father of genetics’ ?
(A) Bateson . (B) Mendel
(© Morgan O Punnet
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(iv)

3

3 g o e e &

A) IgG - B IgM

©  1gp o | | .(D) A |

Which antibody 1s found in mother’s milk ?

@) G (B) IgM

© o * ) . D 1A

@) Caso 42H,0 - ® lNa2.003.10H42O
(© cascl). % o) | (D) Na,CO,.H,0

The chemical formula of plaster of Paris is

(A) CaSO,.2H,0 (B) Na,CO,.10H,O

o | ,
(@) CasO,.3H,0 , (D) Na,CO,.H,O

(v)

T A0 3 SR R Cu R T o e A &

4 Na | ®) ca |

(C) - Au ' (D) Zn.

On ‘the basis of activity series, which element is less reactive than Cy ?
(A) Na ‘ (B) Ca

(C) Au | | (D) Zn.
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(vi) ToRp v =1 e
LS B)
(C) T x HiX D) =T | |
Unit of electric power is
(A)  watt (B) joule
(©) newton x metre (D) newton.

(vii) ﬁﬁ_r%ﬁaﬁff@ﬂ“?-mqawﬁaw%
(&) HR i - (B) iFel
(C) Urpies 7 o (D) WiferEm |
Which of the following is a renewable resource ?
(A)  Solar energy - (B) Coal
(C) Natural gas (D) Petroleum.
(viiiyqéyﬂ%ﬂgwﬁmﬁmqwﬁ% b
(A) =T B) fAfFe
(€ forAsemeE | (D) SR |
AIDS resistant properties are found in
(A) Cinchona | (B) Vincristin B

(C) Vinblastine - (D)

g.07-Science
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(ix) WWW&FQ%WWWWW%

4) 3:1 ot | . B 1:3

© 2:1 | O 1:2. . 1

The phenotypic ratio obtained from F, generation of monohybrid cross is

(A) 3:1 (B) 1.3
| € 2:1 : m@)° 1:2.
(x)  TH 50 kg 57999 & fvg W 100Naﬁﬂﬂﬁwa%20mﬁ§ﬁaaﬁmwﬁ
; WW%ﬁwm(Nxmﬁ)
’
| (A) 2000 (B) 10000
(C) 200 (D) 5000. 1
A force of 100 N écts on a body of mass 50 kg and the body moves 20 m in the
d1rect10n of force, then what will be the work (in Nxm ) ?
(A)" 2000 : (B) 10000
(G 200 - l | (D) 5000.

Answer the following questions in one line.

Write the name of Catalyst used in the preparation of ammonig by ﬂ{e reaction of

nitrogen and hy drogen.
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3. U fheilae-Her & A S | fafeg 1 L
P . Write the value of one kilowatt-hour in joule.
4., MR mm e dfeme? . S | 1

Gir National Park is Iocafed in which state ?
Wﬁte the scientific namg of lac insect.

6. W%mwwﬁfi‘mﬁmﬁmﬁﬁ%7 | -
Asian'Elephaﬁis aré found at Whiéh ghat of India ?'

7 W%Tﬁmwmﬂvwmﬁiml | | | | ,

Write the chemical formula of the gas obtained by complete combustion of carb
of carbon.

3

g U UK H g A ¥ ?

What is the meaning of ‘Charak’ ?
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| ﬁ‘rﬁ@m‘fﬁ{%aﬁwmﬁ%ﬁm:

Fill in the blanks and write the answer in the answer-bogk -

- 9ig - q
Section - B
Freaferfian o ifer i -
HicH-A | HIH-B
@ A (@ AFB T & 75
(i) B (b) A9B
(i) AB (¢ B
iv) o : d A
Match the following :
Column-A Column-B
Blood group Antigen present jn blood
() A (a) Noneof A and B
(i) B : (b) Aand B
(i) AR (c) B
(v) o (d A

B[
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8
freerdt 5 e s 1 aferm feeert wel % Al W HE (Al | FETEITERTT
1+ 1

st fefEe |

Write the number of molecules of crystalline water present in one molecule of alum.

Write the definition of neutralization.

e T w5 g | T aRE F Bl T 33 fafEy |

1+1
~ Explain chemical change. Write any one example of chemical change.
TRIEOT GO i WISTER0T FHEEd | 1+1
Explain test cross with exarﬁple.
T P I T Q § Gl i : 4x 1
WP wH-Q
( sifera T ) Gl )
@ (o (a) A
() Y _ (b) @
(i) et &y | () WX
(iv) ferget fovmr (d) U
Matéh Column-P with Column-Q :
Column-P Column-Q
( Physical quantity ) (Unit)
(i) displacement . ' (a) coulomb
(ii) charge ' (b)  wvolt
(iii) electric current (c) metre
(iv) electric potential (d) ampere
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| 17. ﬁ!ﬁi‘%ﬁﬁmhwﬂmﬁxamywﬁwmqﬂml

| NH,CONH, +H,0 IR x+ y. 1+1

Write chemical formulae of compounds X and Yin the following -chemical equation :

NH,CONH, +H,0 —Urease , » |

18. ﬁwmawﬁqimi-ssﬁ@ﬁawWElm ﬁ,a‘rqﬁ?%mﬂﬁﬁﬁ
ST T A |

o

[ Turn over

L Refraothe ‘indexes of water and glass are 1-35 and 1-51 respectively. Find the
f
|' refractiye index of glass with respect of water.
19. U 80 kg &1 =afh 40 VHUS H 10 HeX Hard ww%:wﬁﬁmmnﬁﬁné
- ?”ﬁ?ﬁmﬁf‘w&r(gﬂoﬂx/sz) 2
A person of mass 80 kg reaches a height of 10 m in 40 seconds. Find the power
| ‘ ?
| used by the person. (g=10m/s?)
Tug - q
- Section - C
§
20. (3 m%ﬁq.@m@aﬁnmﬁm%?mmwm%@q.
| W) TRy % IgghT @ @ arel & FIET TR | 2+2
(1) From which part of the plant is epium obtained ? Write the name of obtained
. alkaloid.
(i) Explain two disadvantages ( losses ) of using opium,
HAQT / OR
$-07-Science t
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23.

10

(i) ST UIRY 6T Hel U Ui Ueshedrag &1 Am fafEe |
() TR & ST W B el Q whr weme | 284
() Write the family of tobacco plant and name of obtained a_[ka.lmd
(i) = Explain two disadvantages ( losses ) of using tobacco.

o1 % WY& v AR 39 fefaw | 1+1+1+1
TS A yafeld STt G @t IR @Rt nehet @t ffa |

Write four measures to conserve forests.

L 201

OR -
Write four indigenous methods of water harvesting prevalent in Rajasthan.
3 ST IR TR & WA e et A e |
HYar
= il TRt % W o e e ffe R oo @ iy e e

2+ 7

2+ 2
Write the local and botanical names of two céreals.

OR

Write the local and botanical names of two medicinal plants in which the medigine

is obtained from leaf. |
THT YehIUI T & ?ﬁoﬁoﬁomwﬁwqa;gaﬁwm% )
AT

ot |
ARt A fow @ mw%Dgﬂﬂ?ﬁé‘mﬁﬁqqﬁq & Rumey o2
AT g8 ?

144

|

What is Raman scattering ? What is the contribution of Dr. C. V. Ram

an in the field
of science ?

Whj
established under his direction ? ¢h r €actors wyere
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Section - D
24, (i) W%Wﬁ?ﬁﬂﬂﬂ%ﬁﬁﬂml
(ii) mmwemﬁmaﬁmm.

() - Draw a labelled dxagram of human excretory system.

o , ?mar/OR
() qmaa;qmwaamwmﬁaml

o reproductive system. |
2% g e et feat o
O SremEt
) e

.Write short notes on the following :

() Volcano

S\ ;j N

(‘ﬁ)_. Earthquake. - m/ oR
ﬁﬁ%@awmﬁmﬁﬁrﬁaﬂ

@ Wmmmﬁﬁa}m?ﬁrﬁm

) wgw

Write short notes on the following : .

(i)  Erosion.

S-07-Science ST . [EB04%

(ii) Explain three dlfferent types of mtrogenous wastes w:th examples

(i) mqqa;qmwaaaﬁﬁéeﬁ?mﬁﬁmmaﬁmwaﬁﬂﬁfm} L

@  Drawa labelled dlagram of female reproducnve system of human.

1 Iture
@ Ad"antages of weathenng forces in agrl cu ‘

2+3 . -

(i) Describe the structure of any three female seconda_ry sex. organs of human
L cri

2

N =
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26. (A)

(A)

(B)

(C)

(A)

B)

(C)

(A)

(B)

(C)

5 07-Science | |

wug - g
Section - E

Nﬂsmﬁw\ﬂ%fﬁaﬂl |
e e & i e S R | 7
o e EEE ST ) W 1 10*1nﬁﬁwﬁrﬁa%‘|wfamqﬁ
pﬂaﬂ?ﬁfﬁﬁa@t A |

Write conjugate acid of NH 3

1+3+1+1

Write any three uses of hydrochloric acid. -

In a solution the concentration of hydrogen ions is 1 x 10~ ! mge per lite
Write the pH and nature of this solution.

m / OR
H,0 &1 ¥ &R feifey | |
e 3t & FE A IaE ferfa | L, | J
S i T S SR 10 15 e 51 e R 1 %8 Ry o H
pH q ‘3@'% Tﬁ’f@ﬂ |

Iyt 3+1+1
Write conjugate base of H,0.

Write any three uses of nitric acid,

In a solution the concentration of hydrogen iong g 1 13
x 107

. ole per itre.
Write the pH and nature of this solution_

YT / OR & |
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(A)
®)

()

T (A)

®)

(€

27. (A

(B)

(a)

(B)

ﬁClWW&ﬁWT | |
mwéﬁéﬁ?w&ﬁm |

| f
Explain the nature and posmon "0

13

Wﬁm?ﬁars@mam‘rﬁmnw"“ﬁﬁﬂﬁﬁﬁa% nsvfaama%
pHHW%IﬁgQI o

~1"‘3"-1+1

_ Write conjugate base of HCL

Write any three uses of_bleachihg. powder.

In a solutidn the COﬁcentration of hydroggn ions is 1. x 10~ © mole per litre.

Write the pH and nature of thlS solutlon

Wﬁv%q@mﬁwaﬁvﬁﬂﬁﬁaﬁﬁﬂu

Wﬁﬁﬁmﬁmﬁvﬁuﬁrﬁwaﬁﬁwﬁramﬁmm |

fer
@) omawaE E
(i) -qﬁWFlazFlﬁv'ﬁﬁﬁ l.

140l 51
1+22+2§

Def’me prmclpa_l focus of convex lens. - N
image with the help of ray diagrams for a

L d
convex lens when qb_,ect is place |
().  atinfinity
and 2F,.

-M/OR

g504%) | [ Turn over

(i) between focus F;
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wﬁv%g@maﬁmﬁawl )
Wﬁa}aﬁm@wmﬁuﬁﬁwﬁﬁmﬁawﬁmm
(i) aﬂv—crqrﬁ - T
() m;améﬁ‘%éhﬁy - o 1+2%+é%

Define principal axis of cbncave lens.
Explain the nature and position of image with the help of ray diagramg for 4

concave lens when object is placed

() at infinity

(i) between infinity and optical céntre :

3rga / OR

YRR -
B) ooy fosf =Y wemar @ Wmﬁqﬁﬁwﬁmamﬁ

P R i

(1:) I W8

(i) SRET HE CWE | L
(A) Deﬁne focal len'gth‘ of convex lens. 25+ 25
(B) Explain the nature and position of image yiy, 4y © help of ray 4

concave mirror when object is placed Agramg for a

(i) - at infinity

. (i) at centre of curvature C. -
g-(7-Science 5:504 % .
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(i)

0.

G

(i)

@

)

)
(i)

d

(ii) -

8_07,sciénce

15

ﬁaﬁﬁuarm#%mw%rﬁaqu | L - - ‘ ' 2+4

Define ﬁiodiversity.
Write four re_ésons for biodiversity loss. -
AgET / OR .

ST faftra it aRef SR |

wwﬁmwma%wﬁmwaﬁml P

Define genetib'divéi'sity.
Explain In-situ conservation and Ex‘situ conservation.

FgT/OR

Define species diversity.

Write four importances of biodiversity.










